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@1 BH
B4 NEEe) | HEES =
v (%) 80 8.8kg |1A160g M 8k
" -7hL-& 9000 24K 1 A150g=60A/%&
188 |(G8) ELIYRT K 1000 4p
(A7) BUY A 500 3P ABE50 g {55
(B EHATA R 500 6P
iR () 80 8.8kg |1A160g M 8k
2BH |HFH 169 100P  |—A1P 50P/%8
JIL—Y AU TILE| 1960 3tE 1A50 g =39 N/%F
e i () 80 8.8kg |1A160g M 8k
RTO07JL—45 T2k g 2000 3 1A50g =40A/P
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BR% NEEe) | HEE i
o v (%) 80 8.8kg |1A160g M 8k
i SalR=in 3000 645  |1A150g =20A/%&
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FH DA 1960 3 1A50 g =39 N/%F
68 B Z AR (K) 80 88kg |1A160g® R
SAFEHRMAET2k g 2000 35 1IN0 g ERI=40A/%E
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BHZ IrLE¥—tAE<CHE BBE &KLY EH
ZHRCK) 285 4.9 0.7 61.7 0
JDFE -74L—4F 96 3.2 3.2 13.8 2.5
188
(M) EFFxE 29 0.6 0.1 6.6 0
ZHRCK) 285 4.9 0.7 61.7 0
288 |vin=Fo BFH 97 7.1 2.4 11.8 2.1
ITI—YHITIVE 42 0.2 0 10. 3 0
ZERCK) 285 4.9 0.7 61.7 0
3&H
<5 aJL—5T2ke 133 8.9 10.9 0.1 0.5
1252 34.7 18.7 227.7 5.1
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Bmdt IRLF—|=AECE| BE |mKitH| 8BS
ZHRCK) 285 4.9 0.7 61.7 0
48 H
BKiH15E 95 3.6 5.3 8. 1 1.2
ZERCK) 285 4.9 0.7 61.7 0
58 |/ \n=FodEH 76 3.8 3.5 1.7 2.1
HMNATE 32 0.3 0.1 1.7 0
ZERCK) 285 4.9 0.7 61.7 0
6B H
SAFEBE=T2kg| 126 8.4 8.9 3 0.6
1184 30.8 19.9 211.6 3.9
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